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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) �������	
��
��	����	
��	��	��	�������	���������	����	�

Candidate must write first his / her Roll No. on the question paper
compulsory.

2) 
��	
��	�������	 !	�
All the questions are compulsory.

3) 
"����	
��	���	#$��	%�	&'�	#$��(�)*+����	��	 �	����	�
Write the answer to each question in the given answer-book only.

4) �,�	
����	��	��-�.���	�/01	 !2	#�	
��	���	#$��	3��	
��	 �	�����
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) 
��	��	���	� -%�	�	��&�4,�	5��-��	��	���
�	
����	��6	�)�71	/	�-��	/ �����8���
	 ����	��	� -%�
��9�	���	
��	����	 �	
 �	�����
If there is any error/difference/contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.
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6) i) � 	
��	��	%��	�/01��	��	���;�	 <	(	�	��<�	=�
ii) �/01	>�?	
��	@1����	���	��3	�������	 <�
iii) �/01	>=?	���	%��	��&	 !2	
"����	��&	��	
��	
��	 !�	�������	����	���
�	3��	��&	���	
��	
��


����	����	 �	�����	 <�
i) This question paper contains two Sections - A and B.
ii) Section 'A' is compulsory for all candidates.
iii) Section 'B' has two portions. Every portion has a set of seven questions.

Candidate can attempt only a set of seven questions of any one portion.
7) �/01 
��	
�A�� ����	
"����	
��

� 1-8 1
9-14 2

15-21 4
22-23 6

= 24-25 1
26-27 2
28-29 4

30 6
����

24-25 1
26-27 2
28-29 4

30 6
Section Q. Nos. Marks per question
A 1-8 1

9-14 2
15-21 4
22-23 6

B 24-25 1
26-27 2
28-29 4

30 6
OR

24-25 1
26-27 2
28-29 4

30 6
8) 
��	
�A��	22	B�/01(�C	���	30 	B�/01(=C	��	��-�.���	����D�	 !�

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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SECTION - A

1) �������	
����
��3 : 3 : 4 ������������������������
1

3
�������������������������������������������

 �!"�����#��$�����#����

X, Y, Z are partners sharing profit 3 : 3 : 4 Ratio. They admitted N for 
1

3
 share.

Calculate new profit & loss sharing ratio? [1]

2) �� �����%�����&�'
�'(�4 : 7 �������������������&�'
�'(��%������	�� �)���"��������������������������
��������� �!"����������������*���� �!"�����#��$�����#����

A and B are partners in a firm sharing profits in 4 : 7 Ratio. They admitted C
into the firm on the basis that new profit & loss sharing ratio will be equal,
calculate the sacrificing ratio? [1]

3) ���+��� �,
�� �+�� ���� �-
� 2015 ���� .!/� ���� 80,000��  �0�� 	�� &�'
� ��#� ����������
"1+�%�4,00,000 �2"�������	�%�3�������#� 4��&�'�5�'����'�4��3*��"���#����15%�����&�'
���#
6�������#��$�����#��������6����� �)�����(�����"�+7��!�����������������

The Net Profit for 2015 of M/s Niranjan & Sons was Rs. 80,000 and its capital
employed was 4,00,000 Rs. The Normal Rate of Return for such Type of
Business is 15%. Compute the amount of Goodwill if goodwill is five times of
the super profit. [1]

4) �8������� ���������������������������������1 : 2 : 3 '(���+9��������&�'
���#������(�'(�6�����60,000 2:
�.�
	
��;	
���������&�'
���� ����.��<�$�������������� ����.��<�$�������"��6��������������'������
3���=�������3�������#������%>

[Turn Over
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Hari, Ravi and Kavi are partners sharing profits and losses in the Ratio 1 : 2 : 3.
The Goodwill Appears at Rs. 60,000 in the books of the firm. Ravi retires from
the firm.

How Adjustment entry of goodwill will be made at the time of retirement. [1]

5) ����������#����?�@�����'?*�!�"�������A�������%��'B���(�C*"D�����%���>�E����	
�������4�;���F(G

What problems do arise on retirement or death of a partner? (Write Two points
only). [1]

6) ������%���H"�%���#�"8���-���%�����

Define Government Company. [1]

7) 3��IH�������
���������
'�������B"=����#����

Explain the term "initial public offer". [1]

8)  +.���'J�K�$"L�'(����� 4����%����

Write two Distinction between share and debenture. [1]

9) ��%���'J���%�����&�'
�'(����������������&�'
����3*�����'�����#� +��'����%F�������<�'.M�6,000�N�:
��'J�8,000�N�:� ���$������������'����������������O����14%����-
�����#���������1������������
������F��"!B��(��31����H���������4����#����%�������%���'J���%����� ���$�"��O������#��$��
��#����

Hari and Ravi are partners in a firm. They withdraw Rs. 6,000 and 8,000
respectively from the firm at the end of each month. The interest charged @14%
p.a. on their drawings, the books of the firm are closed on 31st Dec. Calculate
the interest on drawing of Hari and Ravi? [2]
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10) ��1�%�F����������>

What is Realisation Account? [2]

11) ��������������� ����.��<�$�������"�� I4�'��!�����������B���$���������������%���������%� �)
1932���#�)����37����� �!����C����� �)��������	��>

When final payment of retiring partner is not settled at the time of retirement.
Write right of partner under section 37 of Indian partnership Act 1932. [2]

12) ��H��+�����P������(��������� ��Q������
��3���=���%����A

�����0����	
�3 : 2����� �!"���'(������������������������;�����������������'�������������%�'(

�IH'���������������������(�����
1

5
���B�����������2,50,000�N�"���"1+�%�����N�"�'(��0��1,50,000

N�"���3%�'�'�����N�"�'(����������"!B����(�'(�����	
�6�����F������R'�����S����

Journalise the following transactions:

x and y are partners sharing profit and losses in the Ratio of 3 : 2. They Admitted
M into partnership, who brings Rs. 2,50,000 as his capital and Rs. 1,50,000 as

Premium for 
1

5
th share of profit. No Goodwill Account exists in the books.[2]

13) �������'�+����+� ��<'�'�+�������B"=����#����

Describe the calls-in-Arrears and calls-in-Advance. [2]

14) K�$"L�(�"��O�����������'����	��>

Explain the rules regarding interest on debentures. [2]

 [Turn Over
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15) ������+���	
�3 : 2�'(������������+9�����;���������%�'(�3��.����������������������
���S�����������
����%�2015������5,00,000�N�"���"1+�%�������������	
���<���.%�����������������������%�'(�����

������B�%����������������������%��+��F�'(�P��B0���������"1+�%�"��8%���#�������O������'J�3*����
����
.%���������������2,000�N�:���#�������3��'����������������"+1�%�"��O�����0����������(���������
���"1�
�&�'
������-
�2015���������1,20,000�N�"���0������������9��������#����>

x and y are entered into partnership sharing the profit and losses in the ratio of
3 : 2 x being a non-working partner contributed Rs. 5,00,000 as His Capital on
1st January 2015. y being a working partner agreed to work for the firm. The
partnership deed provides for interest on capital @8% and salary to every
working partner @Rs. 2,000p.m. Net Profit before providing for interest on
capital and partner's salary for the year 2015 was 1,20,000 Rs. Show the
distribution of profit. [4]

16) ��� �����%�1� 3���2015������5,00,000�N�"�����'J�3,00,000�N�"�����#�"1+�%����P��"��� ��H�
����������������� ���$�"��10%�3���-
���#�������31����H���2015�������'�T��-
���������O���
��#��$�����#����A
i) ������3*�����'�������'U��'(�2,000�N�:� ���$����������
ii) ������3*�����'�������3��H��'(�2,000�N�"��� ���$����������
Mr. A and B started Business on 1st April 2015 with capital of Rs. 5,00,000 and
Rs. 3,00,000 Respectively.
Calculate the interest on drawing of A@10% p.a. for the year ending 31st Dec.
2015 in each of the following alternative cases: [4]
i) If A draws Rs. 2,000 permonth at the Middle of the each month.
ii) If he withdraw Rs. 2,000 p.m. in the beginning of every month.

17)  ����.��<�$� 0���'?*�!�"��������������&�'
�'(����������3�������)�
8����������������>�����7��
��#�����
How is a partner's share determined on the Retirement or death? Explain. [4]
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18)  ���� ����������&�'
�'(�����������������������&�'
������'�V�����������7W�����H��0�A
�7XJ�X��

� �

������ 11,000 ���� 3,000

������ 1,000 3�V����� 2,000

������K�$ 2,000 �������� 8,000

"1+�%�M ������ 16,000

 36,000 B9��Y�� 28,000

� 24,000 &��Z7� 6,000

� 2,000 '.%��% 13,000

76,000 76,000

�H"�@���(���#���1�%M����������+�3�V����� 17,000 N�:��������� 7,600 N�: ������ 25,000�N�:
&��Z7� 6,600 N�:���+�'.%��% 8,600, N�:������*��(������!���������������������1�%�P�� 500
N�:��;��

��1�%�F�������	�(�

A, B and C are equal partners. The Balance Sheet on the date of dissolution was
as follows: [4]

Balance Sheet
Rs. Rs.

Creditors 11,000 Bank 3,000
Bills Payable 1,000 Bills Receivables 2,000
B's Loan 2,000 Investments 8,000
Capital Debtors 16,000

A 36,000 Stock 28,000
B 24,000 Furniture 6,000
C 2,000 Machinery 13,000

76,000 76,000
Assets Realised: Debtors and B/R Rs. 17,000 investment Rs. 7,600, stock
Rs. 25,000, Furniture Rs. 6,600 and Machinery Rs. 8,600, Liabilities were Paid,
Realisation Expenses were Rs. 500.
Prepare Realisation Account.

[Turn Over
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19) ������H"�%������+7�����(����20�N�:������2000�	
���9�%� +.���������$�����������"��15�N�"���'�+�����
7!����0���0��10�N�"��� +.)�8���(�[�����!���������������0���C4��(���	�� +.��������15�N�"���3�@��'����
�;����H����F��3��������"!�\���
�'�����������
i) C"���]��'(����500� +.��''1�'�"��"!�\���
�'���������������
ii) C"���]��'(����300�	
���9�%� +.�1�N�:�3�� +.�3%�'�'�"��"!�M����
�'������������
iii) C"���]��'(��������#�	
���9�%� +.�8�N�:�3�� +.�"��"!�\���
�'������������
"!�\���
'��"�����.������'(�3�T������	
����H"�%����5�N�:�3��� +.���#� +��'�'�+����#��0�������H"�%
�����3�T������	
�
��H"�%���#���
��'(�P������(��������F�	���
The directors of a company forfeited 2000 equity shares of Rs. 20 each, Rs. 15
called up on which Rs. 10 has been paid by the shareholders. They Reissued
these shares at Rs. 15 paid up as follows: [4]
i) 500 equity shares of the Above were Re-issued at par.

ii) 300 equity shares of the Above were Re-issued at A premium of Rs. 1 per
share.

iii) The Rest of the Above were Re-issued at Rs. 8 per share.

The Amounts on Re-issue were Received in cash. The company made a Final
call of Rs. 5 per share and this is Received by the company.

Show the Transactions in the Journal of the company.

20) ��H"�%�3���1���3O����������C"�����'(����%����B"=�����(�
Describe the purpose for which a company can use Securities Premium. [4]

21)  �����:��������������100�N�:������2,000, 14%�K�$"L�(�����10%��9J�9���"�����
'��������
��H"�%��������� �Y&��	I,
�������4,00,000�N�:�����K�$������ ����5,000, 14%�K�$"L���������
"����'"�IQ�
���3���1�������N�"�'(��'����������� �"���H"�%���#�"!B����(�'(�K�$"L�(��������
'�����
P������(�������F����
���%����>������'"�IQ�
���3���1�������N�"�'(����%�K�$"L�(���#�3���^����#
���%����
Ajay Ltd. issued 2,000. 14% Debentures of Rs. 100 each to the Public at a
discount of 10%. The company also took a loan of Rs. 4,00,000 from the Bank
of India and deposited 5,000. 14% Debentures with the Bank as a collateral
security. How will you deal with the issue of Debentures in the Books of the
company journal. If entry is being passed for issue of debentures as collateral
security. [4]
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22) 31 '�7
 2015 ������'�T��-
��������� ������������7XJ�X�����H����F��0������������������������0��A
����*� Amount (Rs.) �H"�@� Amount (Rs.)

������ 3,300 �����_
� 600
������ 6,000 ������ 10,800
"1+�%�M B9��Y�� 11,400

 16,800 &��Z7� 2,400
� 12,600 ��� 19,500
� 6,000

44,700 44,700

���
�%������
1

4
���������������H����F��.��`�"���������%�'(�.��'���������������'�����������M

i) 
�% 9,000 N�:�6���������N�"�'(���'J 15,000 N�"���"1+�%������������
ii) "!�������������(�[���� �)%�6�����&�'
������������%������%�
iii) B9��Y�����+�&��Z7��"� 10% '1a�b����������������
iv) �+��c)�K�$����������������(�"� 5% ���� ��������������������
v) �!����������������� ���[���������� 1,080 N�"�����������*��C*"D��; ��
vi) ��������'1a��+��� 8,500 N�:�����d������������
�'�������(������U����'(��F����;�� ��Q����3���=����#�������+���%�&�'
�����3��IH�����7XJ�J�X������	���

 0��
�'e���e� ����<�'.�M 3 : 1 : 1 ���� �!"���'(��������%�'(������������������������ 31 '�7
 2015
������������%�������f9���������$
�����������31�'�7
������C������7XJ�X�����H����F��IB0���������0��A

�7XJ�X�� (as on 31st March 2015)
����*� Amount Rs. �H"�@� Amount Rs.
������ 10,000 ��� 41,000

����A�9�9J����������
���� ����������400 9,600 V��,9��& '.%��% 20,000

&��Z7� 6,000
���������&�,
� 400 �������                   12000
"1+�%�M �'�A 40,000 A�
1����K�$� ������  2000

����A 20,000                             10000
� ���A 20,000             80,000       A��������(�"�

�9J�9����������� ��������1000 9,000
�������� 4,000
�����
�������'( 10,000

90,000 90,000

[Turn Over
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��f9�����#���H����F��.�`������#��	
�A
i) ����40,000 N�:���'J�'.%��% 15,000 N�:�'(���7%��	
�
ii) �'����&��Z7� 5,000 N�:�'(��0���������� 3,000 N�:�'(�����
iii) B9��Y������[��� 8,000 N�:�'(����������
iv)  ������������ 8,000 N�:�'(������
v) �������(������"1$
��!�����'(�8,000 N�:�7!���������
vi) ��1�%�F7
 800 N�:�7!������������'(��� 300 N�"����'�������%���)��(����7!�����

 ��Q����F�����������������;��&�'
���#�"!B��(���+����#����

The following was the Balance Sheet of A, B and C who were equal partners on
31st March 2015.        [6]

Liabilities Amount (Rs.) Assets Amount (Rs.)
Bills Payable 3,300 Cash 600
Creditors 6,000 Debtors 10,800
Capital A/c: Stock 11,400

A 16,800 Furniture 2,400
B 12,600 Building 19,500
C 6,000

44,700 44,700

They agreed to take D into partnership and give him one-fourth share in the
profits on the following terms:

i) That D should bring in Rs. 9,000 for Goodwill and Rs. 15,000 as capital.

ii) That one half of the goodwill shall be withdrawn by the old partners.

iii) That stock and Furniture be depreciated by 10%.

iv) That the Provision of 5% on Debtors be created for doubtful debts.

v) That a liability for Rs. 1,080 be created Against bills discounted which was
dishonoured.

vi) That the value of Building is over valued by Rs. 8,500.

Give the necessary entries to give effect to the above arrangement and prepare
the opening Balance Sheet of the Firm as Newly constituted.

OR
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M, N and O were in partnership sharing Profits in the proportion of 3 : 1 : 1
respectively. They agreed to dissolve their partnership on 31st March 2015,
when their Balance Sheet shows the following position:

Balance Sheet (as on 31st March 2015)
Liabilities             Amount Rs. Assets    Amount Rs.

 Creditors        10,000 Building 41,000
 – Reserve for Plant & Machinery 20,000
 discount    400 9,600 Furniture 6,000
 Investment Fund 400 Debtors       12,000
 Capital : M 40,000 -Prov. for

N 20,000 B.Debts         2,000
O 20,000                                                   10,000

80,000 -Prov. For
Discount          1000 9,000
Investment 4,000
Cash at Bank 10,000

90,000 90,000
The following conditions of dissolution were Agreed upon:-
i) Building were sold for Rs. 40,000 and Machinery For Rs. 15,000.
ii) M took over furniture at Rs. 5,000 and investment at Rs. 3,000.
iii) Stock was taken over by N at Rs. 8,000.
iv) O took over debtors at Rs. 8,000.
v) Rs. 8,000 were paid over to creditors in full settlement.
vi) Rs.800 were paid as cost of Realisation, out of which Rs. 300 were paid by

M from his private sources.
Close the Books of the Firm by preparing necessary ledger accounts.

23) �.������'9��
�����100�N�"��������10,000, 9%� �)'��� +.�10%�3%�'�'�"�����
�'�����������
	��3���������0�� ������"��25�N�"���� ��+9���"��30�N�:�E3%�'�'�����G��30'�'�+��25�N�:���[�%�
 +��'�'�+��30�N�"����12,500� �)'��� +.�(�������<�'����������!� ������"L�3�T��;�����%� �������(
������0��!"��� ��+9�������������� ������"L�(�������0�3�T� ��8�]��)����.����� ��+9���"���������.
�����!�����'(�3������������������%'���������100� +.�(����� ��+9�������������0���'�+��(������!����
������'(� �'0
������C"�!
���P������(��������H"�%���#�"!B����(�'(�3���=����#�����E��$������g���
����G
Shiva Ltd issued 10,000, 9% Preference share of Rs. 100 each at a premium of
10% Payable as : Rs. 25 on Application; Rs. 30 on Allotment (including premium)

[Turn Over
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Rs. 25 on First call, Rs. 30 on Second & Final call. Application were Received for
12,500 preference share, allotment was made Pro-Ratio to all the Application and
excess Application money being applied towords. The amount due on allotment.
Rahim to whom 100 share were allotted, failed to pay the amount of calls. Journalise
the above transactions in the books of the company, (excluding forfeiture). [6]

�������	
SECTION - B

F,
��h�i���������������+��3*���������'(�����3Q������"�%j��0
��(����������%�����������������3Q��(�����
������������
Section B has two portions. Every portion has a set of seven questions candidate
can attempt only one set of seven questions of any one portion.

24) �����_
��3��������$������������F�+����3'�"����� �!������������������������
Under which Accounting standard, cash flow statement is prepared? [1]

25) �����������<��� �(���#��.��'(������_
������ +�
��������C*"D���������������	
�����'�����F��
Write any two items, when does the situation of inflow of cash arise in the case of
investing activities. [1]

26) �����_
��3��������$���#�����	
�������.�-���(����F��
Write any two characteristics of cash flow statement. [2]

27) �7XJ�X�����������*��"j�'(�7��1�����*��.%-
���'(���F�	
���������%�����	
�7���'��(�������'����F��
In the balance sheet of liabilities side write any four items which are shown in
current liabilities heading. [2]

28) ��H���17�� �(���
i) 7��1� �!"��
ii) ���� �!"��
iii) ��������� �!"��
iv) "8�7���� �!"���k�����#����
���<�� 80,000 �, ��7������'�����#����� 48,000 �,  +��'�B9��Y�� 16,000 �, "8�7����P��
12,000 �, ������ 14,000 �, ������ 16,000 �, "1�
�@�� P�� 2,000 �,  a"����%�� ��������
18,000 �.
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Calculate: [4]

i) Current Ratio

ii) Liquid Ratio

iii) Gross Profit Ratio

iv) Operating Ratio from the following information.

Sales 80,000 �, cost of goods sold 48,000 �, Closing stock 16,000 �, operating
Expenses 12,000 �, Debtors 14,000 �, Creditors 16,000 �,� Prepaid Expenses
2,000 �, Short term investment 18,000�.

29) ��H����F������$�(����"8�7������<��� �(���������_
��3����k�����#����

31-3-2015 31-3-2014

� �

������ 85,000 70,000

������ 1,40,000 2,00,000

3�V����"L 15,000 10,000

 a"����%��K�$ 20,000 -


1����K�$� ������ 7,000 10,000

����� �)����-
 50,000 40,000

��H"�%�������-
����������� 37,000 N�:���#���Y����;	
�

Compute cash flow from operating activities from the following details. [4]

31-3-2015 31-3-2014

� �

Creditors 85,000 70,000

Debtors 1,40,000 2,00,000

Bills Receivable 15,000 10,000

Short term loan 20,000 -

Provision for Bad debts 7,000 10,000

Bank overdraft 50,000 40,000

The company incurred a loss of �37,000 during the year.

[Turn Over
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30) ��H���17�� �(�����'���������7XJ�X������	���
31-3-2014 31-3-2015

� �
B0��%��H"�@� 2,50,000 6,50,000
�������� 50,000 1,00,000
7��1��H"�@� 1,00,000 2,50,000
�'��� +.�"1l�% 2,00,000 7,00,000
�+7����+� ��)�� 75,000 1,00,000
7��1�����*� 1,25,000 2,00,000

  0��
��H���17�� �(�����'�������� �������$����	��

31-3-2014   31-3-2015
�������������������������������������������������������������������������������������

���<�� 4,00,000 6,00,000
��7������'�����#�����  ���<�������60%  ���<�������70%
 3*�j�P�� �������������50%  �������������40%
 ����� �������"1�
�.!/���������50%  �������"1�
�.!/���������50%

Prepare common size Balance Sheet from the following information: [6]
31-3-2014 31-3-2015

� �
Fixed Assets 2,50,000 6,50,000
Investments 50,000 1,00,000
Current Assets 1,00,000 2,50,000
Equity Share Capital 2,00,000 7,00,000
Reserve of Surplus 75,000 1,00,000
Current Liabilities 1,25,000 2,00,000

OR
Prepare common size Income Statement from the following information.

31-3-2014 31-3-2015
�����������������������������������������������������������������������������������

Sales 4,00,000 6,00,000
Cost of goods sold 60% of sales 70% of sales
Indirect Expenses 50% of Gross 40% of Gross

Profit  Profit
Income Tax 50% of Net Profit 50% of Net Profit

before Tax before Tax
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SECTION - B

24) DBMS �����"8����-����#����
Define DBMS. [1]

25) CAS ������>
What is CAS? [1]

26) &<�49���4
����'J���������4
��'�� 4�����#����
Differentiate between Front end and Back end. [2]

27) 
��9����������'�*��������>
What is the significance of database? [2]

28) ��F�+����'(�	���9m�������B3�
�.%9����#�C"��������������'��	��
Explain the applications of Electronic spread sheet in accounting. [4]

29) ��HV�19���	n
����F�+����"/�����#���.�-���(���'J��C"�����������F��
Explain the advantages and purpose of computerized Accounting system. [4]

30) SQL '(�3�����������������������H����F����'�,
J�������Co�Q����'J���49��������F���
Write the purpose and syntax of the following commands used in SQL: [6]
a) SELECT
b) Insert Into
c) Drop  Table

�����
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